Honors Math ‘bmgrade Summer packet

NaMe oot oo saation, Answers

® Lesson 1-1 Define variables and write an equatmn to model each sitgation. - -~

1. The total length of the edges of a cube is 12 times the length of an edge. 3' l,
2. The total cost of lunch is $5.50 times the tiiimber of people at the tabIe . 2 o
_ _ -
3. The area of a rectangle is 12 cm times the length of the rectangle. - - - 3.
4, The cost of a telephone call is 75 cents plus 25 cents times the number of minutes. q.
‘ . o : )
S Lesson 1-2 Simplify each expression. 5 . b
5.4+3-8 6.2:32-7 q IO
- 9.2+ 8+2 104+ 4 -
o 13.2+6-8+4 14.6+8+2-3 .- i '3, lq'
® Lessen 1-3 Use <, =, or > to compare. l‘z. 'g .
. S T
17. 045 & 0.54 : 18. ~1.08 & ~1.008 22‘
21,0444 ... @5 2. hed 20 p—
@ Lesson 1-6 Find the mean, median, and mode for each set of data, z'q *
- 29.36,42,35,40,35,51,41,35 30.12,0.9,07,1.1,0.8,1.3,0.6 30 » -
@ Lessons 2-4 and 3-5 Simplify each expression. ' o 5
24, -4 I‘» 2 i o
24, ~4(a + 3) 25. —12(~3«x-— 1) 2— o Emm——
‘4
27. (18 ~ 9r) 28.1+345+7 21. : 28‘ et
30. =3(7w) + 7(3w) 3. 2(1 ~d} — (2d + 1) 30- 3 l" -
3B5Q2 -+ (- 1o —
¢ -p+ -3 34.3(12 - 61 39. 24,
P 7"—“4—__"*" Ty Qe e B . -
@ Lessons 2-1 to 2-3 Simplify each expression. l 2. o
1,22 + (—33) L 2.45 + (—54) * 5
»
4.4 - ‘ 5. |12 — 21] .*- 3 —— -
7. ~(~(11 - 2)) 8.[3+4] 1. - Do -
10. (~3)2 11, -32. §0. .
2 &2 :
13.% 14, =%, i2. l‘*‘.. -
: b 16 17
42 2:3+4 @ ¢
16. 5 VoG +i * *




T Answers

@ Lassor%s 3-1 {0 3-2 Solve each equation.

L8 —-3=13 2.8 —54j=067 ‘) z S ————
P d

S.m—9=11 6. 3(s +5)=175 5) 6
9,3 — 8 = —32 1. 82 — 10g = 4 m———

P gy 10)
@ Lesson 3-3 Solve each equaticn, If the equatlon is an 1dentlty, write zdenmy If it prm——

has no solution, write no solution. 5\ o
15. 4h + 5 = 9k . o 19)—
Bom<3m=4 | l%‘)a-ﬁ
2110z -5+3z2=8~2z = - o ?‘l
"@ Lessons 3-4 and 3-5 Solve each pmportmn. 2“) Srmmas— z )._____,
3 _ =6 t.. 3
24.3="m 25.4 7 =21 2%) ZQ)
2845 = 35 W=

® Lessons 4-1 to 4-4 Solve each inequality.

1, —8w < 24 29+p=17 q,) 5‘ ,

4.7 +2= -8 S.t—5=-13 - '

7. 8w + 7> 5 8.5=3 | 1)“———_ 1 —
@ Lesson 4-5 Solve each compound inequality, z") — zg) ,,______.._.

27.8<w+3<10 8. -6<t~1<6

30,9 — 5/ = 20 and & > —36 M. 3T <3c+T<dd 30) 3')-——-—-'
@ l.esson 5-2 Find the range of each function when the domain is {—4,~-1,0,3). 5) ‘ 6) =

S5, y=6x-5 6.y = |x| -2

8.y=%x+8 . S 9.y = —x2 - ?)'——'—‘q)“_‘

@ Lesson 5-3 Graph each function.

\5) \’IS.y:Zx-i-l .16.y=4—x | J‘)




© Less ept. Answers

' ® Lessons 6-2 and 6-3 Find the slope and y-intercept.'

Sy =6x+8 6. 3x + 4y = —24 5) 6’)
]

Write the equation in point-stope form for the line thl'ougﬁ_tfl;g—h;;ﬁ;;i;;&i;ﬁ IT)
the given slope. - —
17. (4,6);m = —5 8. 3,~1)ym=1 19, (8,5);m = ‘S) : -

) )

Graph each equation. 1')

2Lx + 4y = 8
C 24.4x — 3y =12

A line passes through the given points. Write an equation for the-!i}l_e in
slope-intercept form.

27. (2,5) and (4, 8) 28. (1,6) and (7,3) 27) | 23)
N ——

31, (0,-7) and (—1,0) 32, (7,0) and (3, —4)

d form that satisfies the given c().;ldition's. 7

36. perpendiculartoy = —x 3, through (0,0)
38, parallel t62x — y = 6, through (—6,-9)
40. through (4,44) and parallel to the y-axis

é Lesson 6-5 Write an equation in standar
35, parallel toy = 4x + 1, through (—3,5)
37. perpendicular to 3x + 4y = 12, through (7,1)
39, parallel to the x-axis and through (4, —1)

35)— %) .

37)
M

@ Lesson 7-1 Solve each system!

lLx—y=7 2.y=2x+3
3x + 2y = 6 3

@ Lesson 7-6 Solve each system by graphil-lg.r

25,y =5x + 1
y>x—3

2.y < ~2x+ 1
y>~2x —3




" @ Lessons 8-1to 85 Simplify each expression. Use émly positive exponents,

-8 3. (45)4(45)7? l)

1. (206 2. 5mm
5. (x?n%)(n"8) 6. (wZ4)3(j7P) 7. (15 (m)? 5)
9, ;—’_% 10, = 11, ;;—"_7—6 q)

1. “2’; A 14, ifé:ﬁ 15, (?)_3 |
Evaluaie each expression for m = 2, ¢ = %3, w=4dandz = 0. '

17, om 18, £ 19, (w - O™
21 (wE 22, whtw? 23. 7 {mt)t

Write each number in scientific notation.

13) )
|1)._....l$)
T) P

ANS WC!"S
s}_____

) \—

) as)
O
5)

25. 34,000,000 26. 0.00063 — - —
29. 360,000 30. 6,200,000,000 ) 30)
. 29 . —
@ Lesson 9-1 Simplify. Write each answer in standard form, ') ——
L (5%% + 3x2 = 7x + 10) — (3x® — % + dx — 1)
3. (dm® + Tm — 4) + (2m® = 6m + 8) 3)
5.(—7¢3 + ¢2 - 8¢ — 11) = (3¢2 + 2¢2 +.c44) 5)-
7 (s — 53 = 552 + 35) — (554 + 53 — T2 — 5) 1) »
@ Lesson 9-2 Simplify each product. l( l:-}
11, 46(6 + 3) ) -
. A4b(b% + 3) 12, 9¢(c? — 3¢ - 5)
15, 5r%(r? + 47 ~ 2) 16, 2m%(m3 + m — 2) IS) o o lb)-
@ lessons 9-3 and 9-4 Simplify each product. Write in standard form. ZT) 2'33
27. (5¢ + 3)(—c + 2) 28, (3t — 1)(2t + 1) -
. 2n - 3)}2n + 4) 2. +3)b+7) 3‘) 52')
‘ o]
35 (w ~ w2+ w+ 1) 36.(a+ Ha ~ 4) ) )
@ Lessons 9-5 to -7 Factor each expression. _ ‘i‘§ —
41 x% — dx + 3 42, 3x2 — dx + 1 43.v% v —2 "‘33 —
45. m* + 9m — 22 46, x? — 2x — 15 47.2n% + n — 3 "l;!
Yo) —
47). -




